(T ds d
C U i —
|1 S
K LEX
B "
ME: XRTULRX (SUS304, XM7)
REWIE : L
ME:A2—70
. REES IV T o <P EE
i el b K B C ds S o 7 s P K B C ds S
B23-0855 | M8X55 1.25 5.5 13 15.0 8 22 B23-1070 | M10X70 1.5 7.0 17 19.6 10 26
B23-0860 | M8X60 1.25 5.5 13 15.0 8 22 B23-1075 | M10X75 1.5 7.0 17 19.6 10 26
B23-0865 | M8X65 1.25 5.5 13 15.0 8 22 B23-1240 | M12X40 | 1.75 8.0 19 21.9 12 30
B23-0870 | MS8X70 1.25 5.5 13 15.0 8 22 B23-1245 | M12X45 | 1.75 8.0 19 21.9 12 30
B23-0875 | MB8XT75 1.25 5.5 13 15.0 8 22 B23-1250 | M12X50 | 1.75 8.0 19 21.9 12 30
B23-1040 | M10X40 1.5 7.0 17 19.6 10 26 B23-1255 | M12X55 | 1.75 8.0 19 21.9 12 30
B23-1045 | M10X45 1.5 7.0 17 19.6 10 26 B23-1260 | M12X60 | 1.75 8.0 19 21.9 12 30
B23-1050 | M10X50 1.5 7.0 17 19.6 10 26 B23-1265 | M12X65 | 1.75 8.0 19 21.9 12 30
B23-1055 | M10X55 1.5 7.0 17 19.6 10 26 B23-1270 | M12X70 | 1.75 8.0 19 21.9 12 30
B23-1060 | M10X60 1.5 7.0 17 19.6 10 26 B23-1275 | M12X75 | 1.75 8.0 19 21.9 12 30
B23-1065 | M10X65 1.5 7.0 17 19.6 10 26
YERL B (EYET — : BE _ _ PSR mE
2008.1.15 i Trusco FSATJBMWRREH |7 z7vvargrL b B23—-0000




